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— 9932 29ND RI7T TR IV 1N AN
If it is not applicable to 712 since it is already written, etc.

OVERVIEW

X1 derives that there is a 1277 21 for each 79X%1 done A w32 from the 10D
of 'ma1 n m99nn. The 7n writes the duplicity of nn» N to teach that
there are multiple 2°2vn for being naw %%nn. The X na challenges that this
108 1s regarding 7717 (there is a 70 211 only for 7°17), how can we derive
that there is a 122 21 for each 779X%n that was done A wa? The X3 answers
that we apply the rule of 771 1°X X, that since this P09 is not necessary to
teach us the 7n°n 210 for 712 naw 919°m, since there is another p109 of 2
“mar 1989 12 7w, therefore we apply the duplicity of nmy min in this P105
to teach us that there are many mia7p for being 27mn [one] awa naw. Our
mooIn explains why we could not have employed the 1I1v K X in a
different manner.

nooIn asks:
— 195 NYVH KYLP 19N YORT DIVN T1Y 193Y 1OX ON NNIYYY 9NN ON)

And if you will say; and let the X713 ask instead, ‘if it is not applicable to

791, because it is impossible to execute him twice’; why did the X723 ask that
it is not applicable to 711 since we already know 71 17n°» 2117 from a different 1097

N1B0IN answers:
— PP KD INNY 1159 19599 1IN SNMNT KIINK KIP INY INT 9199 W

And one can say; that if not for the other p1o2 (of N1y 7o8%7 12 AW ),
which the 8713 cites, we would have established this ?op (of nn Y500

nnY) regarding a 7917, and as far as the duplicity -
— DN 232 )Y NN NH2T NI MY

Of n»y m» (which seemingly indicates that he should be executed twice),

P XD (Rwn *2) nnw.

2 2,79 Hapm) mnw.

* We derive the multiplicity of *arn from the duplicity of ma» nw which indicates there is more than one
arn (see ‘Overview’). If we interpret the N1 N1 as a multiplicity of 0°21°n, then obviously n»1» N cannot
be referring to 711 (despite the literal interpretation of the ?109), since there is no duplicity in execution, so
we must say the duplicity is referring to 3\ in an 11y 1°X oX fashion. It is preferable (according to m»son
question) that the 71y 11°X ok be established because of the inherent contradiction in the 109 itself, rather
than because of a difficulty that arises from an outside P105.
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we can explain that because the 770 speaks in the language of men (and
people say nn nn when they mean to execute someone (once)” -

'R 95 59 1299 2519 ANWA STN99 Y 195 3P TiNY PIVEIR NYT XNWH YaN
However, now that we do not need the P05 of n»v nin 7°%%nn for 7, for
we already know that a 7°1m2 naw 5%nn is n°» 21 from the P10 of AWIwH 95
nnY 7oK1 13, perforce we will establish the 7105 of N N for a Az and
the intent of the duplicity in the 102 is to obligate the transgressor to bring
a J29p for each 7ox9n.

SUMMARY

In order to keep the simple meaning of the P10 we would rather assume that
R"12 w9 77N 7027, even though this would mean that there is an
unexplained duplicity.

THINKING IT OVER

nooIN states that from the 7109 of N M 9911 we cannot derive in a oX2
T 1K, that we are discussing 32, because we may indeed be discussing
7 and the duplicity of n® N is because X"12 w2 7790 7727.° Seemingly
mooIn could have said that the duplicity of n»» min teaches us that if he
cannot be executed in the prescribed way (72°pd) you may execute him in
any other manner (as the X713 teaches elsewhere’), and indeed how is there
any proof from nnv nmn for maxo» 791 when it can be teaching us this
52"

*If there is a choice whether to say X"32 7192 7790 7727 and N2 N means one execution, or to say that
nnY (which obviously refers to 7°1) refers to 3w because of the duplicity; we would rather assume that
X"12 W95 770 7127 (and ignore the duplicity) than to establish the 3 wa P which is against the simple
and true meaning of the ?109. (See ‘Thinking it over’.)

> We cannot say the p109 of nnv mn 7°99ma is referring to 791 for we already know 7inn 27 by i from 93
MY 79891 12 7w, we must find a meaning for this p105. The option open to us is the 771y 11X OX to teach
122 20 for each 7oX%n which was transgressed awa. For if it is not teaching us the 211 for each 719X
A3, what is the 2105 teaching us! [This is different from the situation in footnote # 4 where the 105 is at
least teaching us 7°112 7n°n 20 (albeit with a duplicity [which is explainable by &"12 w25 770 7927]).]

% See footnote # 4.

" See 3,mn P70,

¥ See w"w and oW DTN,
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